
2. If f(x) = x2 +kx+ 3k - 5, find all values of k such that
f(x) has exactly one zero.

Question #2

Question #1

Sample 2: How many multiples of 7 are there between 2014 and
2094 that are not multiples of 3? '

Sample I: Find the smallest solution to the equation:
3 " 2

X - 4x = 20 - 5x

Sample Questions

Answer # 52

~

Answer # 1

Answer # 2

Answer # 51



6. Given that [x] isthe greatest integer less than or equal to x.
If f(x) = [x :-1]+JI- x+ Ix -II, then find f(0.99).

".-, .

Question #6

2 "x+-::;;3"
write the solution in interval notation: x

. 5. "So~vethe following inequality,

Question #5

I:'

--~---

4. Line m passes through the point (5, -3) and is perpendicular
to the line 4x -3y = 12. If the y-intercept of line m is (0, b),
find b2•

Question #4

3. Simplify completely: 71og3(31ogg512}

Question #3

Answer # 6

Answer # 5

Answer # 4

Answer # 3



·114+48il
10. Simplify completely: Z

Question #10

{
2X+3Y = 11

. 9. Given the system of equations: 3x-y = 2 - ,

find the value of x +y .

Question #9

Answer # 10

AnsWer# 9

( )
2 ( )2x + I .;4 2x +I +3 = 0

8. Solve for x: x-I x-I

Question #8

[
4 -2

7. Given matrices A = 0 i

entries in the product AB.

[
2 7 J7 B= 0 -4

8Lnd 3 -1 find the sum of the, '

Question #7

Answer # 8

Answer # 7



12. What is the remainder when (x4 + x2 - 6) is divided by (x + 2)?

Question #12

Question #11

11. For what value oft is t the arithmetic mean of7t and 3t - 4?

Answer # 12

Answer # 11
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